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= X 4 BE | Nmh o0 BRE AORES[ 7 4 THRALDKE] B NOKRES X 4 Be | LA LDES AORES[ 7 4 ERALOIES | & NOKRES
(m) (m) (kN/ ) 26 (m) m) | kN/m) (m) (m) (kN/ ) (m) (m) | &N/
’ 100kN/mi%E#E 2% -l -~ - -[3m%E#Z5%[000 ~ 077 455 23.88| 100kN/ %1222 - -~ - -|3m%#%3| 500 ~ 10.12| 455 23.88
Zhst 1.00/0.00 ~ 2.04 10.71| #hList [0.77 ~  2.04| 3.00 15.73 Zhst 1.00| 5.00 ~ 10.12 10.71| #hist | 500 ~ 500] 3.00 15.73
» 100kN/mi%E#E 2% -l -~ - -[3m%#%%[000 ~ 085 493 25.83| 100kN/ %1822 - -~ - -|3m%#E%3| 500 ~ 10.32| 4.93 25.83
Zhst 1.00/0.00 ~ 2.08 7.36] #hist |0.85 ~ 2.08[ 3.00 15.73 Zhst 1.00| 5.00 ~ 10.32 7.36] #hsh | 500 ~ 500 3.00 15.73
3 100kN/m%Ei#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = = -
Zhst 1.00/0.00 ~ 281 36.52| #hish |0.00 ~ 281 2.60 13.62 Zhst 1.00| 500 ~ 7.10 36.52] #hlsh | 500 ~ 7.10[ 2.60 13.62
4 100kN/m%Ei#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = = -
Zhst 1.00/0.00 ~ 7.47 9551| £hls 000 ~ 747 2.07 10.87 Zhst 1.00| 5.00 ~ 10.00 9551 #hLlst | 500 ~ 10.00] 2.07 10.87
5 100kN/mi%E#BZ % 1.00/0.00 ~ 0.33 104.84| 3m%#BAB| - ~ - - ~| 100kN/MiZE#EZ B 1.00/ 10.98 ~ 12.00 104.84| 3m%#2% % -~ - - -
Zhst 1.00/0.33 ~ 8.11 100.00| #h st [0.00 ~ 8.11| 205 10.76 Zhst 1.00| 5.00 ~ 10.98 100.00| #hist | 500 ~ 12.00[ 2.05 10.76
6 100kN/m%E#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = = -
Zhst 1.00/0.00 ~ 7.54 96.46| £h s |0.00 ~ 754 1.97 10.31 Zhst 1.00| 500 ~ 11.15 96.46| #hLlst | 500 ~ 11.15] 1.97 10.31
7 100kN/m%E#B 7% = -~ = o RIY o ) -~ = = —| 100kN/mM%E# %5 = -~ = -|3mZEBZD -~ = = =
Zhst 1.00/0.00 ~ 7.39 94.24| #hList 000 ~ 7.39| 2.35 12.34 Zhst 1.00| 5.00 ~ 10.04 94.24| #hList | 500 ~ 10.04] 2.35 12.34
. 100kN/mi%E#BZ % 1.00/0.00 ~ 0.93 113.90| 3mz#BZ2 3| - ~ - - ~| 100kN/MiZE#EZ B 1.00/ 10.88 ~ 14.05 113.90| 3m%#2% % -~ - - -
Zhst 1.00/0.93 ~ 871 100.00| #h st [0.00 ~ 8.71| 2.07 10.84 Zhst 1.00| 5.00 ~ 10.88 100.00| #hist | 500 ~ 14.05( 2.07 10.84
" 100kN/mi%E#BZ % 1.00/0.00 ~ 1.09 116.36| 3mz#BZ 3| - ~ - - ~| 100kN/MiZE#EZ B 1.00/ 10.55 ~ 13.96 116.36| 3m%#2%.% -~ - - -
Zhst 1.00/1.09 ~ 887 100.00| #h st [0.00 ~ 8.87| 2.16 11.31 Zhst 1.00| 5.00 ~ 10.55 100.00| #hist | 500 ~ 13.96| 2.16 11.31
10 100kN/ Mm% 25 1.00{0.00 ~ 1.15 117.30| 3mEBZB| - ~ - - —| 100kN/mM%#BZ % 1.00| 10.56 ~ 14.24 117.30| 3mZE#B 25 -~ = = =
Zhst 1.00/1.15 ~ 893 100.00] #h st [0.00 ~ 893| 215 11.26 Zhst 1.00| 5.00 ~ 10.56 100.00| #huist | 500 ~ 14.24] 2.15 11.26
" 100kN/mi%E#BZ % 1.00/0.00 ~ 1.24 118.79| 3m%#BA 3| - ~ - - ~| 100kN/MiZE#EZ B 1.00| 10.54 ~ 14.55 118.79| 3m%#2% % -~ - - -
Zhst 1.00/1.24 ~ 9.03 100.00| #h st [0.00 ~ 9.03| 2.16 11.34 Zhst 1.00| 5.00 ~ 10.54 100.00| #hist | 500 ~ 1455 2.16 11.34
. 100kN/mi%E#BZ % 1.00/0.00 ~ 1.28 119.40| 3m%#BZ 3| - ~ - - ~| 100kN/MiZE#EZ B 1.00/ 10.63 ~ 14.64 119.40| 3m%#2% % -~ - - -
Zhst 1.00/1.28 ~ 9.07 100.00| #h st [0.00 ~ 9.07| 2.26 11.86 Zhst 1.00| 5.00 ~ 10.63 100.00| #hist | 500 ~ 14.64| 2.26 11.86
. 100kN/mi%E#BZ % 1.00/0.00 ~ 1.00 114.99| 3mz#BZ23| - ~ - - ~| 100kN/MiZE#EZ B 1.00| 11.44 ~ 14.60 114.99| 3m%#2% % -~ - - -
Zhst 1.00/1.00 ~ 878 100.00] #h st |0.00 ~ 8.78| 2.41 12.65 Zhst 1.00| 500 ~ 11.44 100.00| #hist | 500 ~ 14.60[ 2.41 12.65
14 100kN/mi%E#BZ % 1.00/0.00 ~ 0.36 105.32| 3m%#BAB| - ~ - - ~| 100kN/MiZE#EZ B 1.00| 13.48 ~ 14.76 105.32| 3m%#2% % -~ - - -
Zhst 1.00/0.36 ~ 815 100.00] #h st [0.00 ~ 8.15| 2.60 13.61 Zhst 1.00| 500 ~ 1348 100.00| #huist | 500 ~ 14.76] 2.60 13.61
.5 100kN/mi%E#BZ % 1.00/0.00 ~ 1.00 115.07| 3m%#BZ23| - ~ - - ~| 100kN/MiZE#EZ B 1.00| 12.45 ~ 16.00 115.07| 3m%#2% % -~ - - -
Fhst 1.00/1.00 ~ 879 100.00| #h st [0.00 ~ 8.79| 273 14.34 Zhst 1.00| 500 ~ 1245 100.00| #huish | 500 ~ 16.00] 2.73 14.34
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16 100kN/ M%EEE 25 1.00{0.00 ~ 055 108.09| 3mZ#ZH| - ~ - - —| 100kN/mMZE#E 2% 1.00( 13.97 ~ 16.08 108.09| 3mZHEZ % = i - - -
£h st 1.00{0.55 ~ 833 100.00| £h L4t |0.00 ~ 833[ 285 14.97 Zh st 1.00( 5.00 ~ 13.97 100.00f #hbist | 5.00 ~ 16.08[ 2.85 14.97
17 100kN/ M%EEE 25 -l -~ - -|3m%#E%%[0.00 ~ 0.03] 3.03 15.87| 100kN/m%E# 2 % - = i - -[3mZ#Z5[15.00 ~ 16.00] 3.03 15.87
£h st 1.00{0.00 ~ 7.50 95.92| £hlish | 0.03 ~ 7.50| 3.00 15.73 Zh st 1.00f 5.00 ~ 16.00 95.92] hllsh | 500 ~ 15.00] 3.00 15.73
i3 100kN/ M%EEE 25 1.00{0.00 ~ 0.64 109.55|3mZBZH| - ~ - - —| 100kN/mMZE#E 2% 1.00( 13.58 ~ 16.00 109.55| 3mZ&HEZ % = i - - -
£h st 1.00{0.64 ~ 843 100.00| £hList |0.00 ~ 843[ 283 14.83 Zh st 1.00f 5.00 ~ 1358 100.00f #h b5t [ 5.00 ~ 16.00[ 2.83 14.83
19 100kN/ M%EEE 25 1.00{0.00 ~ 1.25 118.87|3mZBAH| - ~ - - —| 100kN/mMZE#E 2% 1.00(11.74 ~ 16.00 118.87| 3m&i#EZ % = i - - -
£h st 1.00{1.25 ~ 9.03 100.00| #Hh Ll [0.00 ~ 9.03[ 2.66 13.94 Zh st 1.00( 5.00 ~ 11.74 100.00f #hbist [ 5.00 ~ 16.00f 2.66 13.94
20 100kN/ M%EEE 2% 1.00{0.00 ~ 1.56 123.73| 3mZBAH| - ~ - - —| 100kN/MZE#E 2% 1.00( 10.56 ~ 16.00 123.73| 3mZ&i#EZ % = i - - -
£h st 1.00{1.56 ~ 9.34 100.00| £hList |0.00 ~ 9.34[ 233 12.24 Zh st 1.00f 5.00 ~ 10.56 100.00f #h b5t [ 5.00 ~ 16.00[ 2.33 12.24
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImERBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImERBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zhist ~ Zhist ~ Zhist ~ Zhist ~
100kN/ Mm% 2% ~ ImEFRBZD ~ 100kN/MZERZ 5 ~ ImEHBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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